





CHAMFER ALL POSTS
TYPE OM4-3 RED REFLECTOR

. | 0.5'—L s ro .

.
I it
o L | E— — — #_ §
\\ LEVEL LINE f | 7.5" TYP |l
32" LENGTH
TYPICAL SECTION
SCALE: 1"=6’

TOP CHAMFER 45

2"x6"x16" DOUGLAS FIR 3/8"x8" GALVANIZED BOLT & WASHERS
NC.1 COMMON

6"x6"x6' TREATED WOQD
| | - |
< X >

FIBER WASHER \
TYPE N—2 OBJECT MARKER

TYPICAL SECTION
N.T.S.

T|OP CHAMFER 45'—\/\ NOTES:

$ 1 PROVISION FOR FIRE TRUCK/EMERGENCY VEHICLE

2. CONSTRUCTION METHODS AND STRUCTURAL
MATERIALS USED SHALL MEET CALTRANS STD.
SPECIFICATIONS, SECTIONS 57 & 58.

TURN-ARQUND SHALL BE REQUIRED AS SHOWN

ON PLANS,

3. TWO COATS OF PREMIUM QUALITY WHITE
PAINT SHALL BE APPLIED PER SECTION 59.

4, THREE GALVANIZED 20D NAILS SHALL BE USED TO

SECURE END OF PLANK TO POSTS AT CENTERLINE
, AND FIVE 20D NAILS SHALL BE USED AT OTHER
1.5 POSTS.

5. OVERALL WIOTH SHOWN IS FOR LOCAL RESIDENTIAL
FRONT ELEVATION STREETS WITH 36 FT. CURB SEPARATION. FOR
TOP OF ROADWAY N.T.S. OTHER STREETS USE CURB SEPARATION LESS 4 FT.

CITY OF FONTANA

APF

ROVEDBY: Yy

o7

a1t STANDARD
RICARDO SANDOVAL BARR]CADE

REVIEWED BY-_D4 0711005

REVISION NUMBER: STD.PLANNO. 4000 | sHT 1 oF 1




SECTION A-A

50"
44 1/2"
40 3/4" 4 5/8"
| r&%s
, Iy
it +—i
~ i—5 3/4”
B
ST ,
) " sa
‘4‘6 | i
A A 21" F’
g | o 15" | FS.
J;_/a_-’ T
] 0
///
A 8" depth
per NEC

CONSTRUCTION NOTES:
(A) 560-C-3250 PORTLAND CEMENT CONCRETE FOUNDATION.
3/4” x 18" GALVANIZED ANCHOR BOLTS (ASTM A307).
(©) 3/8" CHAMFER TYPICAL.

(D) 2" SERVICE CONDUIT TO SERVICE ENCLOSURE.
(E) 3" SIGNAL CONDUCTOR CONDUITS TO ADJACENT PULL BOX.

(F) 27 CONDUIT FOR SIGNAL INTERCONNECT, PHONE
OR FUTURE FIBER—OPTIC COMMUNICATION CABLE.

@GROUND ROD, 8 FT. MIN. INTO EARTH, EXCLUDING
CONCRETE.(APPROXIMATELY 10.5 FT. ROD)

@ 3" CONDUIT FOR DETECTOR CABLES AND VIDEO POWER

NOTES:
1. INSTALL IN ACCORDANCE WITH CALTRANS STD. PLAN ES—4B.
(NOTES 3, 7 AND 17 OF ES—4B MAY NOT APPLY).
2.TOP OF FOUNDATION SHALL BE 6" ABOVE FINISHED SURFACE.
3.FINAL LOCATION OF CONDUITS SHALL BE APPROVED PRIOR TO FOUNDATION POUR.
4. ALL CONDUITS IN CONTROLLER FOUNDATION SHALL BE HOT-DIPPED GALVANIZED RIGID STEEL.

NOT TO SCALE
/ CITY OF FONTANA
(008, TYPE R
CITY ENGINEER DATE CONTROLLER CABINET

:;‘\’n’;':v';‘; ::""52‘\’“ FOUNDATION DETAIL

DATEOFLASTREVISION: __ | sTp.PLaNNO. 4001 |suT 1 oF 1




3/4"x6” GALVANIZED FULLY
THREADED STUD (TOTAL OF 4)

1/2" MAXIMUM —

Y

o ___MORTAR —]
E N AL

A4

18"

NI

2" MAXIMUM
FINISH

>
W

N\~

&

LA

(TOTAL Of

A

THREADED

3/4"x18” ANCHOR BOLTS THREAD 6",!

TH 2 NUTS AND 2 WASHERS EACH.
LENGTH DOES NOT INCLUDE 2" OR 4”
90" BEND (TOTAL OF 4)

FOUNDATION FOR TYPE 1

UN — IMPROVED AREA

_&.\ ANKANE

GRADE Rt

X 3/4” STEEL SLEEVE NUT
4" MINIMUM LENGTH

4)

STUB AND

FORIR ANCHOR BOLTS SHALL
THREAD INTO SLEEVE NUT
: A MINIMUM OF 1 1/2

— A STANDARD

TOP OF 4" SLIP BOLT
FLUSH WITH FIRST POUR

FINISH GRADE
SIDEWALK

0 S S - R v
L S  afe

[ L

18”

FOUNDATION FOR TYPE 1 — A STANDARD

IMPROVED AREA

NOT TO SCALE

CITY OF FONTANA

CITY ENGINEER
RICARDO SANDOVAL

DATE

REVIEWED BY._ 20
DATE OF LAST REVISION:

TYPE 1-A FOUNDATION
DETAIL

07/10/06

STD.PLANNO. 4002 |sHT 1 oF 1
















RUN CAMERA CABLE THROUGH MOUNT, INTO LUMINAIRE
ARM AND DOWN POLE TO CONTROLLER CABINET.

A CONNECTOR WILL BE PROVIDED BY THE CITY TO
TERMINATE THE CABLE AT THE CAMERA.

INSTALL DETECTION CAMERA AS
CLOSE AS POSSIBLE TO THE
LUMINAIRE. EDGE MOLDING TO REMAIN.

—r=&—m

/

CAMERA MOUNT DOUBLE
BANDED TO LUMINAIRE ARM

CABLE TO CABINET
CONTINUOUS RUN — NO SPLICING

LUMINAIRE ARM MOUNT

NOT TO SCALE
"L" MOUNT DOUBLE BANDED TO SHAFT
INSTALL DETECTION CAMERA O ¢
JUST UNDERNEATH LUMINAIRE
ARM. EDGE MOLDING TO REMAIN.
CABLE TO CABINET —/ |
CONTINUOUS RUN — NO SPLICING e
=
=
DRILL HOLE AND INSTALL )
STRAIN RELIEF CONNECTOR &
|_
Lo ienenss)

SHAFT MOUNT

m CITY OF FONTANA
[ 7-43 AUTOSCOPE

RICARDO SANDOVAL

DETAILS
DRAWN BY: RG/DT

CITY ENGINEER DATE SOLO TERRA INSTALLATION

2

REVISION NUMBER: STD. PLAN NO. 4004 SHT. 1 OF 2




RUN CAMERA CABLES (VIDEO AND POWER) THROUGH MOUNT,
INTO LUMINAIRE ARM AND DOWN POLE. SPLICE AT BASE
OF POLE. "PIGTAILS” ARE SUPPLIED BY THE CITY.

INSTALL DETECTION CAMERA AS
CLOSE AS POSSIBLE TO THE
LUMINAIRE. EDGE MOLDING TO REMAIN.

5/8" MAX HOLE DRILLED
IN LUMINAIRE ARM

/

CAMERA MOUNT DOUBLE
BANDED TO LUMINAIRE ARM

LUMINAIRE ARM MOUNT

CABLES TO CABINET
CABLES ARE SPLICED AT BASE OF POLE

"L" MOUNT DOUBLE BANDED TO SHAFT

e —
INSTALL DETECTION CAMERA O :
JUST UNDERNEATH LUMINAIRE
ARM. EDGE MOLDING TO REMAIN. —
IR |
CABLES TO CABINEF—/
CABLES ARE SPLICED AT BASE OF
POLE. "PIGTAILS” ARE SUPPLIED BY THE CITY. -
=
m
DRILL HOLE AND INSTALL S
STRAIN RELIEF CONNECTOR o
—
SHAFT MOUNT
W CITY OF FONTANA
CITY ENGINEER - /07;\:.: ALTCISGEPE
RICARDO SANDOVAL RVP2 g‘::ﬁt;ATION
DRAWN BY: RG/DT
REVISION NUMBER: 2 STD. PLAN NO. 4004 SHT. 20F 2




SIGN MOUNT DETAIL

8’0"

ARM LENGTH

i~ 77

“NZAP BRACKETS DOUBLE BANDED TO ARM”

. P
Sierra Lakes ,

kwy
6500

24" ABOVE
FINISHED GRADE

T

8 OR 8
NOTE:

NOT TO SCALE

FOR SIGN MATERIAL SEE PROJECT SPECIAL PROVISIONS.

/N

Wt Bore
Mshi o 507)

SIGNAL_POLE
DIAMETER ‘AT

BANDED TO

SIGNAL OR —/

SIGN ARM

]
il

) —

S
+
€

BRACKETS SHALL BE DOUBLE

THE ARM

CLAMP DETAIL

NOT TO SCALE

BRACKETS SHALL BE BOLTED AND
FACTORY WELDED TO THE SIGN FRAMEWORK

ZAP BRACKET DETAIL

NOT TO SCALE

AP ROV/%‘//./a ‘12

CITY OF FONTANA

CITY ENGINEER,

RICARDO SAN Dw
REVIEWED BY: /ot

DATE OVERHEAD REFLECTIVE STREET

NAME SIGN DETAILS

DATE OF £ AST RéVlSION: 1/9/12

STD. PLANNO. 4005 SHT. 10F 3




NOT TO SCALE

SIGN LEGEND DETAIL

12" WHITE BORDER

(— GREEN BACKGROUND

1 Sierra Lakes& 16500:

- i “PKWY

WHITE LETTERS AND NUMBERS

SIGN LENGTH IS EITHER 6' OR 8’ DEPENDING ON LEGEND
NOTE: FOR SIGN MATERIAL SEE PROJECT SPECIAL PROVISIONS.

NOT TO SCALE

CITY LOGO DETAIL

1/4" BORDER

HIGHWAY BLUE

CITY O

[

ONTANA

1/4" BLACK 1
(NON-REFLECTIVE)

GREY
(NON-REFLECTIVE)

HIGHWAY
BROWN

12"

L~ WHITE

U_! L
916"
3/4"

NHIGHWAY BLUE

RICARDO SANDQVAL
REVIEWED BY: ‘70

12"

A oPROVEZEA, CITY OF FONTANA
/o te

CITY ENGINEER DATE OVERHEAD REFLECTIVE STREET

NAME SIGN DETAILS

DATE OF LAST RélSION: 17812

STD. PLAN NO. 4005 SHT.20F 3




NOT TO SCALE

SIGN FRAME FABRICATION DETAIL

'

_"_—"“18“

[+

e T T )

LY
&

; 414"t

8'OR 8" bt

g__-.....,...“..___.ia

1 - 18"

SIGN FRAMEWORK FABRICATION NOTES
ZAP MOUNTING BRACKET SHALL BE WELDED TO TOP OF ALUMINUM
CHANNEL FRAMEWORK AND MECHANICALLY FASTENED WITH A 1/2°
DIA. STAINLESS STEEL BOLT AND LOCKING NUT,
i SIGN FRAMEWORK SHALL BE 1-1/4" X 1=1/4" X 1/8° WALL ALUMINUM

CHANNEL WELDED TOGETHER AT CORNERS.

FRAMEWORK SHALL HAVE .040" THICK ALUMINUM BRACKETYS WELDED
TO INSIDE OF CORNERS AS SHOWN.

FRAMEWORK SHALL HAVE 1" X 1/8" WALL ALUMINUM SQ. TUBE
VERTICAL. SUPPORTS WELDED INSIDE AS SHOWN.

3 ) R ) R £

CITY OF FONTANA

£t o B - ) ° /‘9‘/2.
ITY ENGINE DATE OVERHEAD REFLECTIVE STREET
RICARDO SAN%}VAL NAME SiGN DETAILS
REVIEWED BY: oT

DATE OF LAST R4:'VI310N: 1/9/12 STD. PLAN NO. 4005 SHT.30F 3




	cs_traffic
	FSTD4005



